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Which of the following is generally recommended for tractor power transmission ?
(a) SAE-600il (b) SAE-90 oil (¢c) SAE-1000il (d) SAE-120oil

If the depth of flow before a hydraulic jump is 1.0 m with Froude number of flow as unity,
what will be the sequent flow depth in rectangular channels ?

(a) 0.8m (b) 1.6m (c) 1.0m (d 1.8m
On which of the following the shape factor of a watershed does not depend ?
(a) Shape of the watershed (b) Area of the watershed
(c) Order of the watershed (d) length of the watershed
[ ¢ 5]
Dog clutch is associated with, which of the following ? S
=
(a) General purpose tractor (b) Row crop tractor
(c) Power tiller (d) Chain type tractor

The size of a tractor tyre is given as 11.2/10-28. If 11.2/10 is tyre width, then 28 will be the
(a) tyrediameter (b) Rim diameter (c¢) Tyre radius (d) Rim radius

In tractors between engine and rear axle, the additional gear reduction is provided which is
called as

(a) Differential (b) Differential lock (c) Gear box (d) Final drive

When the projected ground water extraction is more than 80% of the utilizable resources,
the scheme area is called as

(a) White (b) Grey (c) Dark (d) None of these
Which of the following is the fastest method of drilling in alluvial formulations ?

(a) Cable tool percussion drilling (b) Rotary drilling

(c) Hammer drilling (d) None of these

Determination of maximum rate of discharge of an open well is done to perform

(a) Recuperation test (b) Stability test [
(c) Well test (d) Pumping test %

When two wells are located within their radii of influences, the discharge of each of these
wells is affected. This phenomenon is called as

(a) Well failure (b) Well surging

(c) Well interference (d) Well development
Antecedent Moisture Condition (AMC) of a drainage basin is determined based on
(a) Preceding 2-days total rainfall (b) Preceding 3-days total rainfall
(c) Preceding 4-days total rainfall (d) Preceding 5-days total rainfall
Diameter of the open well is decided based on the concept of

(a) Specific drawdown (b)  Specific yield

(c)  Specific retention (d) None of these

Herringbone and grid iron are the systems of layout of which of the following ?
(a) Surface drainage (b)  Surface irrigation

(c) Tile drainage (d) None of these
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A drainage canal discharges 500 m>/hr and drains 120 ha of the area. What will be the
drainage coefficient of this land ?

(@) 10mm (b) 20 mm (c) 30mm (d) 40 mm

The drains constructed from hill side of earthen dams, canals or at foot hills are called as
(a) Interceptor drains (b) Mole drains

(c) Vertical drains (d) None of these

Which of the following is not related with the design of drop spillways ? )

(a) Hydrologic design (b) Hydraulic design E O

(c) Regular design (d) Structural design

Plantation of high water consuming plants/trees for withdrawal of ground water is a form
of which of the following ?

(a) Vertical drainage (b) Bio-drainage
(c) Natural drainage (d) Artificial drainage

In areas where soil is shallow and rainfall is also low which of the following type of bench
terracing system should be preferred ?

(a) Outward sloping benches (b) Inward sloping benches
(c) Any from (a) & (b) (d) None of these

The most appropriate method for irrigating land with more undulations is
(a) Check basin irrigation method (b) Border irrigation method
(c)  Sprinkler irrigation method (d) Furrow irrigation method

Under optimal cropping system, the Crop Water Requirement (CWR) and Consumptive
Water Use (CWU) are related as

() CWU>CWR(b) CWU<CWR (c) CWU=CWR (d) CWU=2CWR

Tillage method in which seeds are sown directly into an untilled soil after harvesting the
crop is called as

(a) Deep tillage (b) Incomplete tillage ¢ E

(c) Minimum tillage ) Zero tillage %
Which is the main property of fluid which will affect drop size during spraying ?

(a) Temperature (b) Turbidity (c) Viscosity (d) None of these
Cone penetrometer is used to measure which of the following ?

(a) Side draft (b)  Soil pulverization

(c) Depth of plaughing (d) Soil strength

The most promising renewable energy sources in agricultural operations is
(a) Windenergy (b) Solar energy (c) Bio-energy (d) None of these

Which of the following is not an option for small farmers to adopt mechanization ?
(a) Through Custom-hire basis (b) Through shared use basis
(c) Through consortia basis (d) Through Government supply
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Soils having slow infiltration rate (2.5 — 12.5 mm/hr) when wetted are classified in which
of the following groups ?

(a) Hydrologic soil group ‘B’ (b) Hydrologic soil group ‘A’

(c) Hydrologic soil group ‘C’ (d) Hydrologic soil group ‘D’

The maximum permissible mean velocity of flow in an earthen channel in sandy loam soil
is
(a) 40 cm/sec (b) 60 cm/sec (c) 80 cm/sec (d) 100 cm/sec

The most significant element which affects the discharge capacity of an underground pipe
is

(a) Type of pipe (b) Head causing flow -

(c) Friction in the pipe (d) Length of the pipe =g
=

At critical state of flow, the velocity head is equal to

(a) Half of the hydraulic depth (b) Same as the hydraulic depth

(c) Three times the hydraulic depth (d) Two times the hydraulic depth

All moisture that reaches to earth surface in liquid or solid form due to condensation of
vapour is collectively called as
(a) Precipitation (b) Rainfall (¢) Snowfall (d) Drizzle

The process of computing the reservoir storage volume, water level and outflow rate with
time corresponding to a particular inflow hydrograph is called as

(a) Hydrograph analysis (b) Flood routing

(c) Flood hydrograph (d) Hydrograph development

The flow of seepage water through the soil is described by which of the following ?

(a) Rational Formula (b)  Universal Soil Loss Formula

(c) Kirpitch formula (d) Laplace equation

One Newton Force (N) is equal to which of the following ?

(a) 10kg—m/s? (b) 100kg-m/s?  (c) 1kg—m/s? (d)  None of these
What measures are adopted to prevent seepage along the pipe spillways ?

(a) Construction of clay core (b)  Construction of horizontal wall

(c) Construction of vertical wall (d) Construction of anti-seep collars

A significant soil building group of crops is

(a) Cereal crops (b) Lequminous crops .
(c) Fodder crops (d)  Fruit crops E o
Sub-surface drains remove water lies in which of the following form ?

(a) Capillary water (b) Gravitational water

(c) Hygroscopic water (d) All of these

What is the purpose of flywheel on an engine ?
(a) To maintain the recommended speed (b) To reduce the engine speed under load
(c) To increase the engine speed (d) None of these
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In Chute spillway, the channel section is always a
(a) Closed channel (b)  Open channel
(c)  V-Section channel (d) None of these

Which of the following is not a form of precipitation ?
(a) Rainfall (b) Dew (c) Frost (d) Avlanche

Which of the following is not a process of wind erosion ?
(a) Saltation (b)  Suspension (c) Surfacecreep (d) Radiation

Which of the following is the next stage of rill erosion ?
(a) Sheet erosion (b) Splash erosion (c¢) Gullyerosion (d) None of these

In universal soil loss equation, A = RKLSCP L0
What parameter is represented by ‘K’ ? =
(a) Soil porosity (b) Soil density (¢) Soil erodibifity (d) Rainfall erosivity

Construction of contour bunds is recommended upto a land slope of which of the
following ?

(a) upto2% (b) upto 4% (c) upto 6% (d) upto 8%
Which of the following is not a watershed characteristic ?
(a) Shape factor (b) Elongationratio (¢) Circularity ratio (d) Crop factor
CiA | . ) .3 . .
In formula Q, = 360 if the units of ‘1’ are mm/hr, Qp in m>/s, then the units of ‘A’ will be

(a) Acres (b) m? (Square meter)
(c) Hectares (d) None of these

The instrument used for continuous measurement of depth of flow of water in a stream is
known as

(a) Current meter (b) Anemometer

(c) Water stage recorder (d) Turbidity meter [
The most common structure used for controlling stream bank erosion is =
(a) Retaining wall (b) Intercepter drain

(c) Drop spillways (d) Spur

Construction of contour bunds is recommended in areas where
(a) Rainfall is high and soil is heavy (b) Rainfall is high and soil is light

(c) Rainfall is low and soil is light (d) None of these

As per land use capability classification, the lands are classified in

(a) 3 classes (b) 5classes (c) 8classes (d) 10 classes
The hand pump is an example of which of the following ?

(a) Reciprocating pump (b) Circular pump

(c) Centrifugal pump (d) Ideal pump
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(a) 2% (b) 4% T (c) 6% T (d) 8% T
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(a) ohig =T (b) TAHHIR
(c) ST frehret (d) cafed e
47. |f@r o FRRI o Sherd i FERa e 2g FTaRva: fhd SEAT T M S 8 7
(a) YR TEF &g gaR (b) STV Tt
(c) g foreta (d) @ (ER) [
48, e et o o 39 8 3 o e fovan o # ot =
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(c) i %A 2 TE firedl geshl & | (d) A RETE
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(a) 3amH (by SamH (c) 8= (d loamd
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As a result of construction of contour bunds in a field which of the following topographical
parameter is changed ?

(a) Length of slope only (b) Degree of slope only

(c) Length and degree of slope both (d) None of these

Which of the following is not a type of storage in a dam ?
(a) Live storage or useful storage (b) Temporary storage
(c) Dead storage or permanent storage (d) Supreme storage

Theis’ equation is used to determine which of the following ?

(a) Steady flow in a confined acquifer. E:5E
(b) Steady flow in an unconfined acquifer -EI 3
(c) Unsteady flow in a confined acquifer

(d) None of these

In uniform flow hydraulic grade line and energy grade lines are

(a) Parallel to each other (b) Perpendicular to each other

(c) Atan angle of 45° to each other (d) Atan angle of 60° to each other

The potential energy of flow is predominant component of total energy in which of the
following ?

(a)  Super-critical flow condition (b) Steady flow condition

(¢) Uniform flow condition (d)  Sub-critical flow condition

In a hydraulic jump flow velocity changes from
(a) Subcritical to Supercritical (b)  Subcritical to Critical
(c)  Supercritical to Subcritical (d)  Critical to Subcritical

The day to day activities of watershed development projects are carried out by which of
the following ?

(a) Watershed development team (b) Watershed Committee

(c) Watershed association (d) User group

Presently, the net area under irrigation in India is about %
(@) 40 million hectare (b) 60 million hectare O

(c) 80 million hectare (d) 100 million hectare

The total rainfed area in India is about
(@) 50millionha (b) 72millionha (¢) 46 millionha (d) 115 millionha

The hydrologic condition of an area is said to be good if the extent of vegetative cover
over it is

(a) less than 50% (b) equal to 55%

(c) equal to 60% (d) equalto 75%

With the increase in speed of tractor operated seed drill, the seed rate will proportionally —
(a) Increase (b) Decrease (c) No change (d) None of these
Which of the following flow conditions are represented by a hydraulic jump ?

(a) Steady & uniform flow (b) Unsteady & uniform flow

(c) Steady & non-uniform flow (d) Unsteady & non-uniform flow
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51. Ueh &9 H GHI §Y o TRUTHETEY 1 § S 97 98! I Seoldi g ?

(a) hact BT sh oTFITS (b) e BTA <l AT
(c) T hl TS TSl HIAT I (d) 3 Y HIETE
52. 1 @ 9 U oY % GUBY 1 IHR AR R ?
(a) Toier Hurgon 3reren 3wt ErEe (b)  3TERATE TURY [
(c) T TR T TATS HIEW (d) gha gugw =
53, <ftE %1 g7 1 & 991 91d v & U M g g ?
(a) ¢ Tolers TR 1§ fRR e (b) ol foters &R H R yaTg
(c) g STeTeTs T H STTRR yag (d) 3T A I T
54. UM Ya1E § g Sufl A3 & HaAt Avft A g —
(a) TH-TE & FHATH (b) TH-GE < THEq
(c) THh-GE H 45 3% BT W (d) TH-GHH 60 3 % BT R
55. T @ forom fefas St S8, Bt S1 1 T TUE 3@ § 7
(a) SAfd-shif~eh TaTg Tewe 4 (b) Tufad yarg rawen o
(c) THM YaTg AIedT | (d) 39-shIfieh YT 3T
56. Ueh g1 3BT H TG < T HH Feeldl & ?
(a) SUshTi<Ieh ¥ HAfcishii<ieh (b) IushTiIeh § Tk o
(c) Afshif=reh & Ishlf=<ih (d) ShIf=Teh & IUshTf=Th =
57. Sl HELOT &3 YU QREATSHIST | e iafatedt e | frees g waTed Bt @ ¢
(a) STTEY & fashm dm (b)  STeTgIT & |fbfd

(c) IV & OIgwd (TRRATE)  (d)  SY¥NT i STcdl 1 99E
58. WRday § gdue | feifad & e fran g 2

(a) 40 faferam g (b) 60 faferam g
(c) 80 fuferm g (d) 100 fuferm ge
59. WHAay # Gt MG Fof HiY & o B
(a) 50 faferm gaer (b) 72 Tuferam gRe=
(c) 46 Tuferm gR= (d) 115 fuferm g
60. TorE & <ht STt oRTTiehl fefa ae 3T=at ohel STl & Ffe ST ceh SATaUT 3Heh S0 HHT o &l —
(@) 50% | &N (b)  55% o TR
(c)  60% o SR (d)  75% o SR
61. SR G =Tera wie fge o wfie ogn W oS i gt STuTfeh &9 §
(@) e | (b) = | (c) rufefdd @l | (d) 7 & 1S &
62. T T 1 it IET TR g1 3BT g ST A B 2
(a) TR oHH sEE (b) TR T quH wET
(c) TORTI oM e (d) SRR Td 3HTH 8@
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75.

Thermal efficiency of diesel engines varies in which of the following ranges ?
(a) 25-28% (b) 29-31% (c) 32-35% (d 38-45%

The first Internal Combustion (IC) engine was invented by which of the following ?
(a) James Watt (b) Nikolausotto (c) George Stephan (d) Snyder

Which of the following is correct ?
(a) 1 watt=10 Joules/Second (b) 1 watt=1 Joule/Second
(c) 1 watt=100 Joules/Second (d) 1 watt=1000 Joules/Second

The ratio of partial pressure of water vapour in air-vapour mixture to the saturation
pressure of pure water at the same temperature is called

(a) Specific humidity (b) Relative humidity
(c) Humidity ratio (d) Degree of saturation

A substance that is homogeneous and invariable in its chemical composition throughout is
called as

(a) Real substance (b) Ideal substance [
(¢) Pure substance (d) Uniform substance =]

Which of the following conditions is not required for a system to be in a state of
equilibrium ?

(a) Mechanical equilibrium (b)  Chemical equilibrium

(c) Thermal equilibrium (d) Economical equilibrium

If “V’ represents volume, then the compression ratio of an engine is which of the following ?
@  Vgp/ Vipe () Vipe/ Vgpe (©) 2Vipe/ Vegpe (A Vppe/ 2Vipe

Which of the following is not the unit of pressure ?

(a) Pascal (b) Bar (c) Newton (d) Atmosphere
The entropy of a system

(a) cannever decrease (b) can never increase

(c) may increase or decrease (d) will always remain constant

Which of the following expands in volume upon freezing ?
(a) Mercury (b) Water (c) Alcohol (d) Chloroform

The rate of heat input (Q,) is required to produce unit work output (1 kW) in the steam

cycle is called as
(a) Cycle efficiency (b) Steam rate
(c) Heatrate (d) Heat flow rate

Estimation of design discharge is done under which of the following ? 3 E
(a) Hydraulic design (b)  Structural design %
(c) Hydrologic design (d) None of these

Gunnel is a part of which of the following ?
(a) Seed drill (b) Disc harrow (c) Disc plaugh (d) M.B. Plaugh
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63. 9t 3o hl ardig et fe @ fopm ufer (3T) 4 seedt @ 7
(a) 25-289fdd (b) 29-319fdw@  (¢) 32-359faerd  (d) 38— 45 Ufawrd

64. T ITICET S o1 IMMTashR 1 & feoree fopam 7
(a) SEEEE (b) TeE@a (¢) e = (d) g

65. FEaERmEde ? o0
(a) 1a7 =10« ufd Tebe (b) 1aR=1J@IRIIHE  [Elea
(c) 1die=100 A I &he (d) 1dfe=1000 & i Ths

66. <1 aTST THUT | TA-aTo0 o ST TG T I A o THH ATIHH T I Ca1d o AT

I HEd &

(a) Tafyresmgar (b) @& mgar (c) ITEATIEIM  (d) Wl I 3]
67. T Uerd ST U Tk BTEHT § G0 Ue SUNGA3e &, SHactTdl & —

(a) STEdfeeh qerY (b)  3TTeN uer (c) & v (d) TuH wer
68. forelt o it Tqe T Srae B % forw foet & & i wit gam <At ekt &1 Bt 7

(a) FEHHGEH (b) TEEHFEGA () dMUHFIH  (d) IRIF FgeH
69. 3fg vV’ STTIAA ST B 9 Teh $9 o HUIeA U A A G AT 7

(@)  Vppd/ Vipe (0 Vipe/ Vppe (©) 2Vipd/ Vgpe (A Vppe/ 2Vipe
70. T 5 9 I g Al ghE TR R 7

(a) UT=hd (b) W
() =eA (d) TTATEET (TCHTESLRR)
71. T A Sl Uiy
(a) it T BNt | (b) it Fferes &l At | %
(c) W T AT &l Tehel § | (d) o fer wEdt R | =
72. A E QSN T W I H S@a1 g ?
(a) O (b) (c) UehlEd (d) FAEH

73. TSI <k H HST SYE hI T (Q,) S 3hTS T IMIYL (1 kW) o ToTu smmareersh gieft & shgermelt
2
(a) Ish Q&Idl (b) AT (c) FEHTET (d) IHIETEE I

74, fesre feeamst o1 Aremera 1 # fopges s=qiia e ST 8 7
(a) = G FEomed (BTegifers feotsd) (b))  WeaTonsh fooiTe (Tgaee fesire)
(c) ST STteht fesime (d) 3T Y HIE T

75. T e o O e ue e g 2
(a) defg (b) TEER 2 (c) TEEREA (d) wAH.E
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83.

84.
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86.

87.

88.

The depth of penetration of a disc harrow can be changed by changing, which of the
following ?

(a) Tilt angle (b) Gang angle (c) Disc angle (d) All of these
Which of the following statements is true ?

1
(@) Djp=3D, (b) Dyy> Dy (¢)  Dyy< Dy, (d)  Dyy=+/Dy
A loose fan belt in a tractor will result in
(a) Overheating of engine (b) Lower engine speed LI
(c) Dblue smoke in engine exhaust (d) All of these =

Normally the operating temperature of an air cooled engine as compared to water cooled
engine will be
(a) more (b) less (c) same (d) None of these

In a 4-stroke cycle engine, the valve timing is controlled by
(@) Handlever (b) Idler gear (c) Timing gear (d) Piston

The standard P.T.O. speed in a tractor is
(a) 540 rpm (b) 1000 rpm (c) Both(a)& (b) (d) None of these

The clutch transmits power from tractor to which of the following ?
(a) Differential (b) Final drive (c) Cam shaft (d) Gear box

A compression ignition engine of a tractor is provided with which of the following ?
(a) Carburetor (b) F-Ipump (c) Both(a)& (b) (d) None ofthese

In a steam engine which of the following events occur ?

(a) Coal fuel is burnt in furnace. EE
(b) The heat of fuel is used to boil the water in boiler e
(c) The generated steam pushes piston in the cylinder =
(d) All of these

In which of the following engines, the engine weight per unit Horse Power is more ?
(a) Diesel engines (b) Petrol engines
(c) Air-cooled engines (d) None of these

Which of the following are the reasons for very slow lifting of implements by the
hydraulic system of a tractor ?

(a) Defective pump (b) Defective control valve

(c) Clogged safety valve (d) All of these

The main function of crank case breather is to

(a) build up pressure (b) remove water vapour from crank case
(c) remove dirt from air (d) None of these

Which of the functions as given below is not performed by a rotavator ?
(a) Incorporation of straw in soil (b) Green mannuring
(c) Puddling (d) Harvesting of crops

e e —— T T GRS



76. TOCR U Shl AYdT <hl TS hi 101 U TohEeh! SecTeht Seell ST dehdl & ?

(a) Teee =i (b) T (c) Te=p=m (d) ITgad
77. fEISREIRAEER ?

(a) DIOZ%DZO (b) Dyp> Dy (c)  Dyy< Dy, (d)  Dyy=4/Dy
78. SFI T UG i Eieil S b HIUT BT 8

(a) S T 3Ty TH BT | (b) 3T i I HH BT |

(c) IS b feprd & <ftem g3t 31T | (d) ITgad
79. HILRUTGY: EAT hieTd S I HIFHR TTIHT ST it S <hl STUT BT

(a) afereh (b) H (c) &AM (d) T B AR
80. 4T WT3feRet 3o H aTed ohi ersfi freifa 2 & —

(a) T A H g (b) IEESHMRFGI o

(c) <refim e 3 g ) Frea®gm s
81. U ol H s N.A.A. Hfa B & —

(a) 540 TRt Ud fire (b) 1000 TR it fire

(©) (a)¥(b)qHi (d) 3R TR
82. It JeRT o T ot fergren! e Termor SRt B 7

() femfRR@ (b)) ®EAAEET () FAWR (d) e sl
83. Ueh dF o HUISA CEd S H M A T A BT & 7

(a) PRERA (b) F-197 (TH.3TE. 7

(© ()9 (b)gHi (d) T Y HE T

84. T WY 3 H fA & & &9 ©ff weamd afeq a1t 8 2
(a) ST o T DI W H eI 1T 2
(b) e <l Tiff BT STeR H U ITer B SR o SITaT B |
(c) Siaer H I~ 9Ty faferet ¥ fies o1 goherd! |

(d) S ae i h
85. 1 Frg dom , 3o F R U SRA W SR AR 7

(2) ST T (b) IS 3

(c) dTTIHfTd 3o (d) TTHEBIE AR

86. X <hl TEEITeTeh UUTTeHt G IUhUT ol a1gd ek 33M & feu Frr A g s s spror 2 7
(a) TS (b) TG HLA T (c) 3Ia6g Qe dred (d) a8 ot
87. heh S T T M 8 —

(a) TETE ST (b) oheh & H | TS I FHehTerT
(c) o et I Febrer (d) = AHE T
88. i fedl U N w1 s Ueraet g wetfed TEi BT ® ?
(a) 3T T Thredt | TuTerst ST (b) T @EsH g
(c) usfem % zg (d) HE 6 HeTg HET
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100.

101.

Which is not the role of mechanization in Indian Agriculture ?
(a) To ensure timely field operations (b) To increase land utilization efficiency
(c) To increase labour productivity (d) To increase land holding size

When variable cost of a tractor increases, the break even point of tractor will be
(a) delayed (b) advanced
(c) will remain same (d) None of these

The loss of value of a tractor with passage of time is called as
(a) Salvage cost (b) Depreciation (c) Reducedcost (d) None of these

The water absorbed by plants is called as,
(a) Capillary water (b) Gravitational water

EE
(c) Hygroscopic water (d) Free water %
The units of dynamic viscosity are which of the following ?
(a) g/em-s (b) g-s/cm (c) cm/g-s (d) cm-s/g
As per land capability classification class VIII lands are suitable for
(a) Intensive cultivation (b) Wild life and recreation
(c) Proper crop rotation (d) None of these

While measuring infiltration by using double cylinder infiltration, measurements are made
in

(a) Outer cylinder only (b) Inner cylinder only

(c) Inner and outer cylinders both (d) Either of these cylinders
Soils in hydrologic group ‘A’ exhibit

(a) High runoff potential (b) Low runoff potential

{5

(c) Very high runoff potential (d) None of these

ELE

Seepage force acts in which of the following direction ?
(a) Only in upward direction (b) Only in downward direction
(c) Opposite to the direction of flow (d) In the direction of flow

Porosity of a soil mass is the ratio between
(a) Volume of voids and total volume  (b) Volume of solids and total volume
(¢) Volume of voids and volume of solids(d) Volume of solids and volume of voids

The value of Plasticity index for coarse sand is
(a) Ten (b) Five (c) Zero (d) One

A high value of soil conservation practice factor in USLE indicates that
(a) the soil is properly managed (b) the soil is poorly managed
(c) soil need no additional management (d) None of these

Which of the following is the most appropriate device to measure flow on flat slopes under
high degree of submergence ?

(a) Rectangular weir (b) Trapezoidal weir

(c) Parshall flume (d) H-Flum

e ——r- =



89. T iy & i =t fireht Hefiierto 1 T 2 2

(a) EHIH HY RAST I T HAAT | (b) YW ST c&Fal § IR T |

(c) oM 3cuTeshal | ghg T | (d) e BifceT a3 # gfg T |
90. Ueh ¢ ! T Sceid] HIFd ITe 9gd] & 8 ¢ hl soh Sa UIg~C T &N 7

(a) TSN (b) W IR (c) HHME T (d) Y HETE
91. T % WY daA i hiad H HHl HEATd! 3

(a) HAATRT (FTea) HiHd (b) A

() = Hma (d) T 9 B A [
92, el gRT AN ST T HaATAT & ? =

(a)  HISTRT STA (b) e SIA

(c) TIESIRIMUS TeT (d) w@ad A
93. T danfds wRaMTH sHE P AR ?

(a) g/em-s (b) g-s/cm (c) cm/g-s (d) cm-s/g
94,  1fir e Sfentor % SR aTl-VIIT <6t fy ferereh foru Suzer &1 & 7

(a) EEA B (b) & e T STHE-THE

(c) 3 wEa = (d) A HETE
95. < fafermet ot 1= :T=e U1t | 31T B WY hal hid & 7

(a) el fafeet ¥ aet (b) 3AT=Teh faferst Faat

(c) ATk Td el g fHfetret § (d) ol o forelt & oft
96. ETESIAISTS g ‘A’ 1 gerd gl &

(a) 3 YATE fava (b) = 3varE fave

(c) Wgd I 3TuaTe fava (d) 3TH T BE TR
97. TmE-sa =4 @ form fesn d s s @ 2

(a) <hadd W HI fesm I (b) Faet T i feam %

(c) wgE i foawdia feem (d) =& fexnd =
98. T GWH ! FLYAT fohrioh off o1 STA & 7

(a) LI T 3TAA Td et JTRAAH (b) 3TE T I TS HA AT

(c) T8 T AT T 31F hT 3T (d) 3IE T AT T T T 3T
99. HIZ {d 1 FoIF (WAL ) FThich UM Il &

(a) < (b) = (©) A (d) Th
100. J.TH.TA.3. H TeT TEI0T ST¥ATH T0Tieh A1 ST haa1 8 7

(a) TeT3ih A TSRAR |

(b) TeTH yEEA A HH R |

(c) I foTu SAfafer JaweH shi JTavaehar 13! |

(d) 3T HHETE
101. T @ 1 9uad eTdt W 3= ot & 1=l JaTg 7o g Saiiereh Suad I3 8T ?

(a) IR AR (b) T ERR

(c) eIt R (d) H-wM
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114.

115.

Weirs are generally designed to operate under which of the following condition ?
(a) Submerged conditions
(b) Free flow conditions EE

(c) Critical flow conditions &
(d) High flow conditions under high submergence

Susceptibility of soil towards erosion is represented by which of the following ?
(a) Erosivity (b) Erodibility (c) Transportability (d) None of these

In Modified Soil Loss Equation (MUSLE), the rainfall factor of USLE is replaced by
which of the following ?
(a) Energy factor (b) Runoff factor (¢) Crop factor (d) Wind factor

Which of the following weirs are most affected by end contraction ?

(a) Triangular weir (b) Rectangular weir

(c) Trapezoidal weir (d) Cipolletti weir

The value of runoff coefficient is generally remains

(a) less than one (b) more than one

(c) equalto one (d) None of these

Flow condition when its specific energy is minimum is called as, i

(a) Artificial flow (b) Controlled flow -El 5

(c) Critical flow (d) Ideal flow

The most efficient channel section is

(a) Rectangular (b) Semi-circular (¢) Triangular (d) Trapezoidal

At critical state of flow, the value of Froude number will be
(a) 0.0 (by 1.0 (c) 2.0 (d) 4.0

Central Soil-Water Conservation, Research and Training Institute (CSWCRTI) is situated
in which of the following cities in India ?

(@) NewDelhi (b) Bhopal (c) Dehradun (d) Hyderabad
Average precipitation over an area is determined by using which of the following method ?
(a) Cook’s method (b) Average elevation method

(c) Thissen polygon method (d) Synders method

In hydraulically efficient rectangular channel section with B = bottom width and D =
depth, which of the following conditions should be satisified ?

(a) B=4D (b) D=2B (c) B=2D (d B=D
Which of the following are units of transmissivity ?

(a) L?T! (b) L?T? (c) LT3 (d LT#
One ppm is equal to which of the following ?

(a) 1000 mg per litre (b) 100 mg per litre

(c) 10 mg per litre (d) 1 mgper litre

Under normal conditions, the specific gravity of mercury is
(a) 13.8 (b) 13.6 (c) 134 (d) 132
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103.

104.

10S.

106.

107.

108.

109.

110.

111.

112.

113.

114.

115.

T o st & et witfeurferati o s ot B P € € 2

(a) T afefeufoRn &

(b) = JaTg uitfeafaat § EE

(c) it e et 3 s

(d) 3= Fuwar & 3r=aia 3= Yarg uiieafa &

T T ST o W HagTeiierar fe & forareh gr quteft meft 2 2

(a) IIETHINAT (b) HFEAAMAd () URerETar (d) T ARG TE
uftafda Higel o el (THIUETEs) H JUHUAs 1 a9t T = & fohes gra foeenfia
fpmmn g ?

(a) SiEeh (b)) 3IUATE UIH (c) H HUh (d) dagEeH
e o @ 1 T e o i @ ged St i BT ?

(a) Drepofmder (b) EAHERERR () THerEERR (d)  fued R
TIYROTA: TS Tk T T L&l &

(a) THAFA (b)) THAAME () THHWHR  (d) TTHHABETE
wgTa i feuf s sEeh! fafdme et feraw 8, Fan shgerrdt & 7

(@) HbmweE (b)) FEPAwEE (o) wieTEE  (d) e SEH
T GETATRIeR ATeil Sl RH B ATR 7

(a) ISR (b) ITGIATHR (c) TR (d) THeT=T
SETd oh Shifwieh JTTEAT H IS TR 1 T 91 AT 7 o0
(a) 0.0 (b) 1.0 () 2.0 % d) 4.0
RATY § hesi TeT-STet HREvT, SEYH Ug Uiier e (CSWCRTI) e & ford wrge o
fe@z v

(@ TEfeeet  (b) T (c) &g (d) eeusTe
et & o 3aa sraaun (Sfafuesm) f= & foha fafer & soam & s e sman @ 2
(a) Fpd fafa (b) 37Ta = fafy

(c) offem urefi fafy (d) wirzew fafy

ZellT 281 TR R ATt | &l B = SRIdel shi 91818 qeil D = Teft <hl TeUs & = & & &t
AT e BT =MTRT 2

(a) B=4D (b) D=2B (c) B=2D (d B=D
=1 3 | I FEorsiierar o 3hE 8 ?

(a) L?T! (b) L?T?2 (c) LT3 (d LT#
wes Y. Y. wm. e o fords sUs BT ® ?

(a) 1000 fir.zm. wfa efte (b) 100 fi.am. ufd wfiex

(c) 10T, ufa efiex (d) 1. gfa e

YA STTET & A=Td IR 1 [IiRee O9cd 8

(a) 13.8 (b) 13.6 (c) 134 (d) 132
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In contouring tillage operations are performed

(a) Across the contours Lines in the field

(b) Along the contours Lines in the field E
(c) perpendicular to contours Lines in the field %
(d) None of these

Which of the following is not a reason for over heating of a tractor engine ?
(a) Water deficiency in radiator (b) Closing of thermostat valve
(c) Looseness in fan belt (d) Deficiency of fuel in fuel tank

What will be the power required to pump water at a rate of 450 litre per minute at a 50 m
total head of the pump and efficiency is 70% ?

(a) 7.5 Horse Power (b) 7.13 Horse Power

(c) 10.2 Horse Power (d) 12.1 Horse Power

Which of the following cannot be altered/modified while performing tillage operation ?
(a) Soil moisture (b) Soil structure  (¢) Soil texture (d) None of these
What should be done to increase the lateral stability of a tractor during turning ?

(a) Increase radius of the turn (b) Decrease radius of the turn

(c) Increase speed of the tractor (d) None of these

Excessive smoke coming out of an I.C. engine may be due to which of the following ?
(a) Improper fuel (b) Rich fuel mixture

(c) Excessive loading (d) All of these

Cultivators with spring Tynes are suitable for
(a) Stonysoils (b) Loose soils (c) Grassy soils (d) None of these

Throttle lever in an engine is used to perform which of the following ?

(a) To increase the engine speed only

(b) To decrease the engine speed only )
(c) To increase and decrease engine speed CIric
(d) To control spark (=]

In metric units, the specific heat of a substance is the number of calories required to which
of the following ?

(a) Toincrease 1 °C of 1 g substance (b) To increase 10 °C of 1 g substance

(c) Toincrease 10 °C of 10 g substance (d) To increase 1 °C of 10 g substance

Before starting the engine of a tractor, the throttle lever should be kept at which position ?

(a) About '% position (b)  About 3/4™ position

(c) At minimum position (d) At maximum position

The dirt/dust from lubricating oil is removed by

(a) Fuel filter (b) Oil filter (c) Aircleaner (d) Spark plug
Calibration of a seed drill is performed to check, which of the following ?

(a) Row to row spacing (b) Seed rate

(c) Depth of sowing (d) Seed to seed spacing

The prime mover is used in a power thresher may be

(a) An electric motor (b) Anengine

(c) A tractor (d) Any of three

Seriea e — T T T GRS T



116. g1 H Y-TRERTT 61 FRATE Tva= <l STt &

(a) & T Tur [@13 & IR-IR (b) & o Ture tEren Y fesn

(c) &= T i @13t o e (d) T A B T
117. T & S 1 39 S5 % Sreafereh T 2 1 R R 7 =i

(a) ST T Ut 61 et (b) YT dTed 1 a9 BT

(c) A e 1 ST BT (d) IS 3 H TUA (FIA) i B

118. 50 HieX et 3 o fetw 450 ofiex ufd firme i gt & freawor 3q fopat wifda 1 smrerwerehar gt
Ffe qg <61 gaadt 70% & ?
(a) 7.53vawfE (b) 7.133ma@WE  (c) l023w@wfEd  (d) 12.1 3wE fd

119. T § JATS o W 1 | T Tohaen sigett /gamy &t S deha ?

(a) HaIH (b)  HeI T (c) HeITe (d) ST B AR
120. HE T F i &fas |13 <t frat sigM o foru @ shaan =nfey 2
(a) Hie ! e wert =feT | (b) I & Freen & e =fRT |
(c) 3FhH =TT F@H =T | (d) 3T I B T
121. TS 3AAced 3 8 Tefyyes g1 e o 9 fopa wwon & bt Tehan @ 7
(a) & 3 (RIA) H1A B (b) et <1 frsror ek B
(c) WR I T4k BT (d) sTEfiHIEA
122. T8I 2157 & Ty FHedae fhaes foru sugaa 2 ?
(a) werict ger 3 foru (b) T ger & feru ClkiC]
ORRIEEISIKHERSIY (d) T EHETE [=
123. 399 Yiee ofiar b1 Y30 e & o enfed v 7 feRam Sman g 2
(a) had I 6l A FGH b foTw (b) I I3 hl TTA HH A & T

(c) 5 < =Te T Td §igH o foTg (d) Tk frrEr & forg
124. oo gepreal 1 foreht werel fop fafmse o ot & Fermes foTw srrersaress el Y dean arft 2
(a) EUE % 1 UMM T a9TH 1 °C IgH B
(b) IHUE % 1 UMW T AIHH 10 °C 5@ =g
(c) 3E e % 10 UTH T AHM 10 °C FgH B
(d) 3E e % 10 U9 T AUEE 1 °C §¢H 7q
125. 3T o S5 ! T B U YIeed e ol fehe 37w # w@1 =nfe ?

(a) T Y (3TTeft) ST o (b) T ¥ (9 =TE) raeen §
(c) Tram srewen o (d) 3ferray srewT A
126. Ere det 8 el Tiredt formes gr gerE ST © 2
(a) 3U BMS G (b) T (Oil) BFH g
(c) dTF MY g (d) TTeh W gA
127. U 9418 wefia (Fre fger) =1 snerien fm @ b 6 e &g P S @ 2
(a) IS & TS H gl (b)
(c) TS hI TR (d) e E i
128. et Tferd SO (T8TE 3 =1 T T i A1eH B Tehal 8
(a) T FrREART (b) ThEH (c) THHX (d) o H T o
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129. Crown wheel is a part of which of the following ?
(a) Differential system (b) Steering system
(c) Clutch system (d) Cooling system

130. ASPEE is famous for manufacturing which of the following ?
(a) Tractors (b) Sprayers (c) Ploughs (d) Power tillers

131. Compression ratio of a petrol engine lies in the range of
(a) 16-20 (b)y 6-10 (¢ 2-3 (d 50-100

132. The size of a seed drill is determined by which of the following ?
(a) Number of furrow opener only
(b) Spacing between furrow opener only [
(c) Number of furrow opener and spacing between them %
(d) Working capacity

133. The maximum power can be produced by an average man is about

(@) 0.1hp (b) 0.3hp (c) 05hp (d 1.0hp
134. The tilt angle of standard disc plough ranges between which of the following ?

(a) 25 to 35 degree (b) 5to 10 degree

(c) 15to 25 degree (d) 10to 15 degree
135. The use of a straight drop spillway is normally recommended for a drop up to

(@ uptolOm (b) upto3.0m (c) upto5.0m (d) upto80m

136. The Mannings formula used to determine flow velocity in open channels is expressed as

(a) Y= l R1/3 SZ/3 (b) Y= l R2/3 Sl/3 (C) y= l R2/3 Sl/2 (d) Y= l R1/2 SI/Z
n n n n

137. The pH value of saline soils is always
(@) lessthan4.5 (b) morethan 10.5 (c) lessthan 8.5 (d) more than 8.5

138. Which of the following is not a type of strip cropping system ?
(a) Field Strip Cropping (b) Contour Strip Cropping ~ E3ME
(c) Buffer Strip Cropping (d) Normal Strip Cropping %
139. How many are the stages of gully development ?
(a) Five (b) Three (c) Four (d) Eight
140. The amount of water transpired by a crop in its growth to produce unit weight of dry
matter is called
(a) Transpiration ratio (b) Evaporation ratio
(c) Transpiration coefficient (d) Dry matter index

141. To have maximum protection the wind break/shelter belts should be laid out in the
direction of
(a) Inprevailing wind direction (b) Normal to the wind direction
(c) 20 degree from the wind direction ~ (d) 10 degree from the wind direction

142. The size of rain drops varies between which of the following ?
(@) 1to3 mm (b 2—-6mm (c) 4—-8mm (d) 5-10mm

SeeA T, <=



129. 313 8t T 1 8 forerem famm @ 7

(a) 3= (femifRrret) yomeft o1 (b) TG goumTett

(c) T JUTTEAT ol (d) fide yorTett st
130. wuEdiss () e & o e o fog g 2 7

(a) oFH (b) wFE © &= o @ rer feerd
131. T YISt $-91 o HUIe ol 3TUTG fohdl R | T&al & ]

(a) 16¥20 (b) 6310 (c) 233 (d) 50100
132. U Hie fgat 1 1R fre & fopmeh g sma e Stran 2 7

(a) <hacT e I hl HE&AT (b) hact %S I < o= hl gl

(c) hE TR h! HEAT Ta 3Tk = hI g (d) T &
133. T 31Gd JTEH! gRT AT SATehan Ifea Scd= <hl T Tebell &

(a) 0.1 Todl (b) 0.3 TIdl (c) 0.5Tgd (d) 1.0 Tgdl
134. T f$th &1 1 geprd SV 7 & fopa SRR A waT & ?

(@ 25°353W (b) 5T 103 (c) 15®253m™ (d) 109153
135. T T9 IS (Ve g foreter) b1 ST 9meT=rd: fohdw g @eh o fofu 3gmifea fhan smar g ¢

(a 1.0"H.d% (b) 3.0 d® (c) 5.0l d% (d 8.0 d%
136. et Tiferll & warg i 71 0 ¥ A g7 1 fopa atg @ wefifa frn wmar ? 2

1 1 1 1

(a) y= H R1/3 SZ/S (b) y= H R2/3 Sl/3 (C) v= H R2/3 SI/Z (d) y= H R1/2 Sl/2
137. @ el 1 pH = gH 811 3

(@ 458%HF (b)) 105TFE@  (¢) 8.5THA (d) 85T I
138. T @ 1 ygdier @t yomeft 1 R TE 7 7

(a) &9 TgeR Bl (b) T TR Tl EE

(c) o TEeR et (d) BT TR et v
139. Teft (3FefeTenT) forehma & fohad sOT B & 2

(a) d (b) (c) =W (d) 33
140. T HHA GRI 31T g o G AT STt <l HIAT 511 3ehTs Y TG1¢) Icq=1 hidl! &, el §

(a) THICESH JFFATA (b) TSFIERTOT ST

(c) ATSAICHSH TUTTh (d) Ik e S3|
141. 31irpan s=ma & fore g form /Steet wedt o6t fopg feum o o =nfzw 7

(a) T areft gar i feam (b) BT oEad feun §

(c) FaThI fesm @ 20 3T (d) warhifem @ 10 3w

142. 91 6 §GI 1 SRR 7 & fopereh e sgad & 7
(@ 1a3fdf. (b)) 2@efad. (c) 4% 8T (d) 5@ 10
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143.

144.

145.

146.

147.

148.

149.

150.

151.

152.

153.

154.

158S.

A contour map showing straight and equally spaced contour lines will represent
(a) Undulated surface (b) Flat surface
(c) Flat surface with uniform slope (d) None of these

To obtain a unit hydrograph of 4-h duration, the intensity of rainfall excess will be

(a) 4.0 cm/hr (b) Yacm/hr (¢) 1.0 cm/hr (d) None of these
Double mass curve is to check which of the following ?

(a) Consistency of rainfall data (b) variability of rainfall data

(c) Uniformity of rainfall data (d) Intensity of rainfall data

Unique depth in uniform flow associated with each discharge is called as ..

(a) Critical depth (b) Normal depth ]

(c) Alternate depth (d) Sequent depth [=

The ratio of actual specific humidity and the maximum specific humidity at the same
temperature is called

(a) Humidity ratio (b) Degree of saturation

(c) Relative humidity (d) Moisture-dry air ratio

In case of wind erosion, the maximum movement of soil particles takes place under which
of the following ?

(a) Suspension (b) Surfacecreep (c) Saltation (d) Induction
If soil moisture tension decreases, then the moisture content of the soil will

(a) decrease (b) increase

(c) remain same (d) either increase or decrease

Saturation capacity of soil is also termed as
(a) Moisture capacity (b) Minimum water holding capacity
(c) Maximum water holding capacity (d) None of these

The rational formula is used to determine which of the following ?

(a) Daily runoff volume (b) Average daily discharge rate

(c) Monthly discharge velocity (d) Design discharge for a hydraulic structure
The value of exponent for fully pressure compensating emitter in drip irrigation will be

(a) 0.0 (b) 0.5 (¢) 0.75 (d 1.0

Leakage factor is related to which of the following ?

(a) Confined acquifer (b)  Unconfined acquifer ;6

(c) Semi-confined acquifer (d) None of these o 3

Current meter is used to measure which of the following ?
(a) Depth of flow in streams (b) Direction of flow in streams
(c) Duration of flow in streams (d) Velocity of flow in streams

Lysimeter is used to measure which of the following ?
(a) Vapour pressure (b) Evaporation
(c) Transpiration (d) Evapotranspiration
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143. T GHT=d AT X Hiefl U6 The™ gl W SHi= {@rl @1 SR 8 ?

(a) et Gaa (b) I T

(c) TH T hl TUTE eRIde (d) A BE -
144. T IR 9 AT 1 [ TR T HiH 7q ST5ed I91 ! T=vear gt

(a) 4.09.7. gfd e (b) /481, gfq=er

(c) Lo¥H. whide d) T RE T E [l
145. 1 HTE el o1 ST 3 & @ fopareh wlieqor 03 2 fepan ST @ 7

(a) 99T % JAThel T ATRY (b) @I % TSI T TCAT

(c) oo ATehel hl THAT (d) @i Afehel i =vsal

146. GHH YaTg ht 31fgdia 788 S Iieh Jarg- e 8 g Wl @ shadld! @
(a) ShIfe TEUE (b) T TEUS (c) UHfUB TR (d) I TEUS

147. THE AM9EH W aRfesh [T 3gan v sifrehan fafirse sgdr 3 31gda i ad 8

(a) AT AU (b) TAAT T 3T

(c) M ATl (d) FHI-3[h ST ST
148. ST &1  HGH H 7T KUl bl STTerehan feor=rr f1 & 9 fopereh si=ria giat & 7

(a) Treem (b) TE U (c) B (d) oo
149. 3fc T&T TH T S FIT & a9 ol H TH 1 7

(a) HEAT|  (b) wEM| (c) @HH T | (d) st |
150. 7T 1 T 2T i 78 oft haT ST HehdT B

(a) T &Har (b) ~IAAH ST YROT &HAT

(c) 3TRrehaH STet TRUT &FFell (d) 3THIHE T %
151. YTt (Rational) T et & et e 1 3q g 21 & 7 =

(a) <fe TTATE ST (b) 3T e TETE R

(c) HITE JaTg i (d) STeit T= 7q fesTmsd yare
152. <91 =S o 98 & § goTE &fagfd Scasien < fore Tfqdiess &1 7 g

(a) 0.0 (b) 0.5 () 0.75 @d 1.0
153. Tme wre f 0 @ forem gafea 2 2

(a) o¢ JererRl TR (b) ol eTerRit T

(c) od-7g TRl TR (d) A BETE
154. WIITCIQI(Cunentmeter)WWTﬁt[ﬁﬁWﬁ?W%%ﬁﬁ?ﬂTw% ?

(a) A H yaTg < TS (b) G H yarg < femm

(c) O3 | yarg &t Jafy (d) 9T H yarg i i

155. TSt 1 3w f=  foreeh w19 &g fep Sran & 2
(a) oA (b) TSR (c) STSaIcESH (d) TSI
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156.

157.

158.

159.

160.

161.

162.

163.

164.

165.

166.

167.

168.

At critical stage of flow, the specific force of the flow will be

(a) maximum (b) zero (c) minimum (d) None of these
How many phase matter the soil is ? LI

(a) Four (b) Three (¢c) Two [ (d) One

A soil sample has porosity of 40%, then its void ratio will be

(a) 0.66 (b) 0.40 (c) 0.28 (d) 0.06

The water application efficiency will be highest in which of the following irrigation

methods ?

(a) Border irrigation method (b)  Furrow irrigation method
(c) Drip irrigation method (d) Sprinkler irrigation method
Which of the following statements is correct ?

(a) Total porosity of Sandy soil is maximum.
(b) Total porosity of Clay soil in maximum.
(c) Total porosity of Clay soil is minimum.
(d) Total porosity of Silty soil is maximum.

Specific yield is a property of which of the following ?

(a) Perched acquifer (b) Confined acquifer

(c) Semi-confined acquifer (d) Unconfined acquifer

One micron is equal to which of the following ?

(@) 0.001 mm (b) 0.01 mm (¢) 0.10 mm (d) 0.0001 mm
One hectare-meter volume is not equal to which of the following ?

(a) 10,000 cubic metres (b) 10 million litres LI

(c) 100 hectare — cm (d) 1000 cubic metres =

Each side of Cipolette weir has a side slope of

(a) 1H:2V (b) 1H:3V (c) 1H:4V (d 1H:5V

If ‘H, is the head over the weir notch in a 90° V notch in’ cm, then the discharge through
the weir in lit/sec will be given by the following formula.

(a) Q=0.0186 H32 (b) Q=0.0186 H>2

() Q=0.0138 H32 (d Q=0.0138 H>2

Which of the following is used to measure point or local velocity of fluid in a channel ?
(a) Pitot-meter (b) Orificemeter (c) Venturimeter (d) Rota meter

Which of the following is not a component of a mould based plaugh ?
(a) Share (b) Controller (c) Land side (d) Tail piece

Which of the following may not be a reason for reduction in water discharge during
pumping with a centrifugal pump ?

(a) Closing of foot valve (b) Leakage in suction line

(c) Low speed of the pump (d) Leakage in delivery line
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156. TGI8 ! Shif~ieh 7T H, JaTg o1 faf¥rse &7t (Specific force) R

(@) Ffrhad (b)) I (c) =T (d) FTHIRE T
157. w1 fohaT aTaeensti s agrel & 7

(a) =W (b) o= © @ d TH
158. Tt o ek T Y YT 40% 7, T« 35! e STuTa B

(a) 0.66 (b) 0.40 (c) 0.28 (d) 0.06
159. T e faferrt & feraeht Star 1y geran watfees gt 2

(a) e TS fafy (b) g f&=rs fafy %

(c) e s fafer d) weamfiemfafy O

160. FH @R AR TR ?
(a) TAEYGhI P MPaHATIH e | (b) T firedt i o1 Tyrar waifere 2 |
(c) T fipamygm~gans | (d) et fiedl 6 Fa wyar gaffass 2 |

161. fafsre 3ust (Specific yield) =1 @ frapr U 8 2

(a) 3T g Jayd (b) ¢ AU

(c) -9 FAYd (d) Tl Tawa
162. T GTSshie = § forgeh SO g1 8 ?

(a) 0.001 mm (b) 0.01 mm (¢) 0.10 mm (d) 0.0001 mm
163. T gFI-HIeX 3T7aA 1 & fortes sUsR @i AT 2 ?

(a) 10,000 =9 Hiex (b) 10 Trferem <fiex

(c) 100 gFR-T 1. (d) 1000 = Hiex CIric

=

164. Tl for s Tieh fohTi o1 @t Bl 2

(a) 1H:2V (b) 1H:3V (c) 1H:4V (d 1H:5V
165. ¢ 90° V Notch % SW 9et 39 &1, § ‘H’ 7, 9 38 SRR A <ft. /4. # vare forvg g3 & fen

S 7

(a) Q=0.0186 H2 (b) Q=0.0186 H>2

(c) Q=0.0138 H32 (d Q=0.0138 H>2

166. T & fererent 3w fereft 5 ot A1ett § v A1 foreg o W o fofe fepan ST @ ¢
(a) frcdedir (b)) sfpmdir (o) S Hix (d) et

167. /=1 3 %19 91 Hice 9IS &1 1 3o¥a TE1 8 7

(a) I (INM) (b) fr=®
(c) weHsE (d) ot i (37 T ghe)

168. =1 T T 19 T hIT Ueh 3Tehre! T79  UfET o SIH 0wor 1§ st o fo7u & 81 Tt @ 2
(a) O dTed 1 &< 8T | (b) <IN ATE | Feama BT |

(c) 9T I 7T HW BT | (d) Trrepret ez o e 2 |
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169. The decomposition of human excreta in a septic tank is performed under which of the
following conditions ?
(a) Aerobic conditions (b)  Anaerobic conditions E-E
(c) High temperature conditions (d) None of these %

170. A line joining the points of equal elevation is called as
(a) Straightline (b) Contour line (c) Artificial line  (d) None of these

171. The mass of moisture per unit mass of dry air in a mixture of air and water vapour is called

as
(a) Specific humidity (b) Relative humidity
(c) Saturated air (d) Degree of saturation

172. What BHP will be required to pull a 1.5 m reaper working at a speed of 4 km/h. There is a
load of 100 kg/m length of reaper and the mechanical efficiency is 60%.
(a) 3.10bhp (b) 3.88bhp (¢) 3.70 bhp (d) 2.80bhp

173. In case of sowing with a seed drill, we maintain, which of the following ?
(a) Seed to Seed distance only
(b) Row to Row distance only -
(c) Seedto Seed and Row to Row distance e
(d) None of these =

174. Which of the following functions is performed by differential in tractors while turning ?
(a) Reduces the speed of outer wheels  (b) Increases the speed of outer wheels
(c) Increases the speed of inner wheels (d) Maintains same speed of all the wheels

175. Froud number is expressed as the ratio between
(a) Innertia forces to Viscous forces (b) Innertia forces to gravity forces
(c) Innertia forces to drag forces (d) Innertia forces to friction forces

176. The ratio between sediment yield and gross generated erosion is known as

(a) Sediment generation ratio (b) Sediment deposition ratio
(c) Sediment delivery ratio (d) None of these
177. In case of open channels, flow takes place due to which of the following ?
(a) Pressure difference (b) Elevation difference
(c) Friction difference (d) None of these
178. Which of the following is correct ?
(a) 1Bar=100kPa (b) 1Bar=10k Pa
(c) 1Bar=1000k Pa (d 1Bar=1kPa
179. RPM of a tractor engine are measured by which of the following ?
(a) Thermometer (b) Speedometer
(c) Tachometer (d) Manometer

180. The centre of gravity of a tractor can not be determined by which of the following methods ?
(a) Suspension method (b) Weighing method
(c) Balancing method (d) Dynamometer method

e — T =T



169. U Hfwsh o | AT At 1 fepva (fespraieian) fer & fopa sreenati B gran @ 7
(a) g srereen § (b) F-TEHFE A
(c) 3= qm9 T | (d) T IS AR %
170. T I o ToG3Tl i S aTel @1 F1 HgaTdi & 7
(@ " (b)) FHEEE (©) Fhma (d) FTHIAFETH
171. 979 U et 9 firsror & ufd gepTs S[seh Ay <hl gl § Tt <6t Tefa shaardl & —
(a) TR aga (b) @UFIEAT () HIW Y (d) T
172. T 1.5 # 91 TG0 g 4 f6.wfY./me1 61 7ifd @ %8t hred &g fehad a1.T=. . 61 Sawaehal
Bft 7 G W 100 T, fe it weX IR Y X T ToE AT & Te AR hH AT gera

60 fersrel &1 |
(@ 3.0 wadl. (b) 3.88wad. (¢c) 3.70sTIU.  (d) 2.80f.u=.d.

173. fefgadgaE d e g A R I wid & 7
(a) S st <l gl W (b) TS 9 TS 6 gl WA
© dNAdNTEEETAAE R (d) FHABET

174. 3 H Oigd gaa fewifre (faves) gro e 0 & & @1 el fepan Sman 2 7
(a) STEl ufeal ol =Tel H HT B | (b) TR Ui H AT Tedr R |

(c) 3T=5L % Ul 6l It SIgIan 8 | (d) aftulzmi NI arHEae |
175. WI3S T fohel el o WEd 7T ST & ?
(a) IS §¢1 U I a9 (b) TS I T T §c
(c) IS §c1 Ue Sy §e (d) IS 5 U UHT 9
176. HE-3UST U el I~ TG o 1<l o ITUT <l &I had & ?
(a) 9T 3cUTEH TUTd (b) HG-SHE UM [
(c) uTg-Fepm g (d) T AFE T =

177. Geht Aferat o dwexf o wgra =1 o | fopd wrw gran @
(a) TEIWSA (b) IAAMIA () TNUI=AA  (d) TTH A IS T

178. fda @ ad g ?

(a) 1¥R =100 frelt arepet (b) 1§ =10 fepett ur=he
(c) 191 =1000 feretl qTEehet (d) 191 =1 el ureher
179. Teh 3 55 o AR . wH. 7 1 @ fergeh g A 9d & 7
(a) UHMHIX (b) ThEHR (c) THEiR (d) BT
180. Teh %t o1 Ufadt g (CG) Tt & fera farfer g s = foma s @t 2
(a) Teeafafy () wrfafa (c) Hde fafy (d) e fafy
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